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The ﬁg"izrés‘in the margin indicate
Jull marks for the questions.

Answer either in English or in Assamese.

1. (a) State whether vt'he following statements
are true or false : 1x5=5

R SfewN o5 (7 wum BE =@

() An Indian citizen is always
considered as resident and
- ordinarily- resident in- India.

G OIFON ANRTS MY ©IFeq A
% AR A RBitet o 7= 27|
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(ii) The rate of income tax for a given

(iii)

(iv)

(v)

year is fixed by the Parliament
Finance Act passed by the
Parliament. '

e @it I/T AR =< [
ome [en wizas ae 1 T4 =)

If a person is considered as an
assessee in place of another person
due to a valid reason or course he
is known as deemed assessee.

Tt FARISS T ACATT G&H IS Ze

G Go e Fre! Zoiest J0 [y
Co€T TEre IWel Zois &= W

Perquisites cannot be given in
monetary form.

A% A AR TR TGTS 2 37y
=31

In India, Wealth Tax Act of 1957
has been made effective from 1st
April, 1956.

1957 51 =& wifad, TITetd® 195¢
o1 “AfEE afEem om e @)
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(b) Fill in the blanks with appropriate

word : 1x5=5
oY *9F QI AT R AR 3 ¢
(i) of an assessee has no

relation with the concept of
residential status.

Ry 4N (TS 9 3N
ARSI ARG A T7AF A
(i) Agricultural income is fully
exempted from income tax under
sec. of Income Tax Act.

PSR __ TR 4
IR o Tl TS |

(iii) Indexation of the cost of

is required to be done in case of
long term capital asset.

RGO T TIfER oFae 3
o Rl T R |

fiv) Deductions out of gross total

income is allowed to individuals

and only.
FEJERCTANT AW
AT 2R T TR JIF SR
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(v) Bestjudgement assessment is also
known as .

Tow Revaer 39 s
Ffere Tt AW

2. Write short answers to the following :
2x5=10

o epiT 5 B il 3

(@) Write the meaning of Previous Year as
per Income Tax Act.

IR g SRR RSt 7w

(b) When is an individual considered as
“Non-resident Indian” for income tax

purpose ?
2 GO ST T (SN OISR ATy
F=x e o U |

(c) State two expenses which are
admissible while computing taxable
profit of a business.

AT SR e P IS I ey
7Ry 49’ Rawa Tmd 41
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(d) Mention the situation when an

(e)

individual is not required to pay
advance payment of tax.

& AR 9o e Sy 71 Reiy
R A= T =1

Define Net Wealth under the Wealth
Tax Act.

TG Sz SR o AR e faa

Describe briefly any four of the following :

5x4=20

©ote AR Rigeien o165 Re=e faat s

(a)

(b)

When an individual is considered as
resident but not ordinarily resident in
India ?

o g e AP I @R T IS
OIS Ay A ZoICA I I J2h e

State the procedure of filing tax return
by individual assessee.

T ] AN IS ST AfSravw wiRke
] *afe T =1
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(c)

(@)

(e)

(9)

Write short notes on Income from other
sources under Income Tax Act.

A ST SR SR TR AR (R ST
8sige HILorR forl !

Explain the procedure of regular
assessment under the Income Tax Act.

SEFS SEce WA 39 REwloq owfs qr
|

State the procedure of calculating long
term capital gain.

AL R are RfReR 1afS Taw =)

Explain the provisions of the Income
Tax Act regarding tax deducted at
source from salary income of an
individual.

e SiEH PR 9T IR Ty g
ol TeATS TN FOA IR AW ] |

Name any five allowances which are
exempted from tax upto the limit of
actual expenditure.

oS TR I ~ARA 1% TS R AR
5] R T 111
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4. Answer any four questions from the
following : ’ 10x4=40

©eTS S T M s e Bew i o

(a) State the deductions available from
gross total income under section 80C
of Income Tax Act, 1961. 10

1961 B TP W29 80C HNE TEiN®
ToleTq Y O I IR Rl RUTIA
R S =)

(b) Explain the procédure of assessment
of tax under the Income Tax Act, 1961.
10

1961 5] AR W2 SPIS 39 e 9
ARG A 30|

(c) Describe briefly the procedure of
ascertaining the income under the head
‘profits and gains of business or
profession’. 10

‘T A &R o[ (TR AS-F €T W
S I AES AT S T4 |
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(d) What is PAN ? How can it be procured

as per the provisions of Income Tax

Act ? 10
PAN 32 S1173 Wiz R iR Wis (R0
e IR AR
(e) Write short notes on : (any two)
5+5=10
Rireren 7519 waeot o ¢
(i) House rent allowance
9 ©IYl 40
(i) Gross total income
AT o S
(iii) Perquisites
TR W IR
(f) Define ‘Asset’ as per Wealth Tax Act,
What are the components of exempted
wealth as per Wealth Tax Act ? 10
9% 1 R SR ey A
ToifE 39 wiZ SR (RN Ty
oz [ R
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Amar of Barpeta is the owner of a
house property in Guwahati. The
house is let out at a rent of
212,000 p.m. Its municipal valuation
is 21,60,000p.a. and standard rent
is ¥1,30,000p.a.

The fair rent of the house is
¥1,40,000.

The house was self occupied for
two months and remained vacant
for one month. Municipal tax paid
¥10,000.

Compute the net annual value for

the Assessment Year 2021-22.
5

FHIBR SR @GS 4l IR TS
@B WiFR | MEEA 12,000 it o0
fiorest TaCh! ©rel il A1 | IR
CSTI" IR =0 1,60,000 51 W= RS
WHF Ol =¥ 1,30,000 5|

TSC6R J1XF I Il = 1,40,000 53l |
VAIRT A e TI00! PR IR 9=
«q TF I IO A SR |
2021-22 39 R I IR o7
P AT oy [l =1
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(h

(i) When does the liability for
payment of advance tax arise ?
How is it computed ? 5

iy 9 emie ity @fon Tea =
WS T Wl 9 We

Mr. Ramen Das is employed in a private
limited company in Guwahati. During
the previous year 2019-20, he received
the following payments from his
employer : »

. oW 7 SR 9Bl SIS TS
T | 2019-20 RS} IT© (98 RPN
1 fReRe 53 siiefe ¢

Basic salary ¥15,000 p.m.

T N W 15,000 T

Dearness allowance ¥10,000 p.m.
R A6 W 10,000 B

Entertainment allowance %1,000 p.m.
e e W6 1,000 S

Travelling allowance ¥500 p.m.
=99 A6 WifZE T 500 B
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Bonus for the year 250,000
IREGR IR A6 50,000 531

Commission received 40,000
Al S 40,000 Bt

Free furnished accommodation for
which the employer paid a rent of
%5,000 p.m.

SIS 49 %9 97 T'© REHRIRIE Nz
5,000 Bt 99 ©rul «ifRmily R

Employer’s contribution to recognised
provident fund @13% p.a. on basic.

R TSV Fow REPRFRIE T w=<0g]
89IqC IR 13% I9eH e |

Compute his income from salary for
the Assessment Year 2021-22.

2021-22 31 RdiwI91 T AR (0 €T v
»R1 2RI = ey =01
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